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QUESTION 1

A company\\'s Junos-based router has two EBGP peers and receives two BGP update messages with the following
information: 

Peer A - AS path [ 65001 64513 12 ] ; MED 67 ; origin value 1 

Peer B - AS path [ 65002 64513 12 ] ; MED 70 ; origin value 2 

Assuming default values, how will the company router react to these updates? 

A. The path through Peer A will be preferred for all traffic to that destination. 

B. The path through Peer B will be preferred for all traffic to that destination. 

C. The paths will be load balanced to that destination based on a Layer 3 hash. 

D. The company router marks the routes as hidden to that destination because the MED exceeds 63. 

Correct Answer: A 

 

QUESTION 2

-- Exhibit -[edit protocols rstp] user@switch# show bridge-priority 32k; 

max-age 20; 

hello-timer 2; 

forward-delay 15; 

interface ge-0/0/11.0 { 

disable; 

} 

interface ge-0/0/12.0 { 

cost 20000; 

mode point-to-point; 

} 

interface ge-0/0/13.0 { 

priority 128; 

mode shared; 

} 
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interface ge-0/0/14.0 { 

edge; 

} 

bpdu-block-on-edge; 

-- Exhibit -The exhibit shows the RSTP configuration for your EX Series switch. The switch begins receiving BPDUs on
a port and disables that port. 

Which port is disabled? 

A. ge-0/0/11.0 

B. ge-0/0/12.0 

C. ge-0/0/13.0 

D. ge-0/0/14.0 

Correct Answer: D 

 

QUESTION 3

Depending on the link type, OSPF sends link state update packets to which two addresses\\' 

(Choose two.) 

A. 224.0.0.6 

B. 224.0.0.5 

C. 224.0.0.8 

D. 224.0.0.9 

Correct Answer: AB 

 

QUESTION 4

Which statement is true about IS-IS hello (IIH) PDUs? 

A. The same IIH PDU is used for both point-to-point and broadcast networks. 

B. IIH PDUs maintain the link-state database synchronization. 

C. IIH PDUs provide the priority value used in DIS election. 

D. IIH PDUs are transmitted only at the beginning of adjacency establishment. 

Correct Answer: C 
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QUESTION 5

Which type of route is shown in the following output? 

A. generate 

B. aggregate 

C. static 

D. floating static 

Correct Answer: A 
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